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01 et ESFH S 18,500 0 18,500
Oty g ¢ 37,000& * 5004 18,500
(oL MY = 225 37,000 16,650 20,350
= 2,553
= 1,787
Al 32,660
405 TtatF S| 37,000 16,650 20,350
= 2,553
< 1,787
Al 32,660
01 AL EFFH S 37,000 16,650 20,350
O st 2= 25
37,000& * 1,0004 37,000
= 2,553
< 1,787
Al 32,660
g2 zel 456,986 266,680 190, 306
< 15,000
Al 441,986
MIZ2R2RF 2l 231,986 181,680 50,306
301 LEtE LS 231,986 181,680 50,306
0B A =RRAB LS 231,986 181,680 50,306
OAZ =2 QAH(HYEX) 70,786
-2 197,100& = 15H » 128 35,478
— 34| 6,000& = 159 » 21 * 123 22,680
— n Sl 2,6003 = 15 = 21 » 12& 9,828
— I =dl(at=, F&=5)
280,000& = 12 = 10H 2,800
OMII=E2RP AU (MISXNANLE2IXNES
) 151,200
— 324l 6,000% * 100 * 21 * 123 151,200
OM=EE3 10,000,000& * 14 10,000
(E)N ot 2X & 75,000 85,000 10,000
< 15,000
Al 60,000
308 AHAIEHHSOIA 75,000 85,000 A 10,000
< 15,000
Al 60,000
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COTV 22| (B2 M LA /T TN - 2182]) 2,223,926 1,947,079 276,847
CCTV 22| 1,626,226 1,146,119 480, 107
CCTV SE2NMAEH 24 1,626,226 1,146,119 480, 107
101 @121l 618,000 572,400 45,600
04 JIZtHI22XNHEE 618,000 572,400 45,600
OJIZtMZ 22X E2=(Al 12, DS 12/MEX
2 22X BE82 ELs) 25,750,0008 x 249 618,000
201 LEt2 Y| 496,526 409, 109 87,417
01 AF22t2l bl 14,300 8,400 5,900
OZHMHEE 22 800,000& * 12& 9,600
OAAR2 =4t 3,600
— 2A EY 200,000& = 53] = 104 1,000
— PC ==¢clHl| 100,000& = 13 = 2004 2,000
— J|EF =2lH]| 50,000& = 12& 600
OSEZMAAY FXE E2AH|
1,100,000 = 14 1,100
02 352494l 482,226 400,709 81,517
OCCTV X2 86,500
—g8HE £ Helol ES
300,000& = 1190H 35,700
—JIEt SE4& CCTV 200,000& « 105CH 21,000
— &8=2 £HiXE CCTV 200,000& « 1490CH 29,800
Ozl ME= 256,800
— 4dIH 3,200,000& *» 13/& x 12& 38,400
—2AEg 100,000& = 303/ ~ 12& 36,000
— X258t (333 &)
100,000& = 3334 » 12& 39,600
— N2 iR 100,000& * 803l & = 12& 96,000
— &7 A 100,000& * 284 = 6& 16,800
—s8s FIIH2N A
100,000& * 503/ & * 62 30,000
ONIIMNESZ 60,240
= 1,500,000& = 12& 18,000
—2AEg 20,000& = 16200 A = 12& 38,880
— &7 20,000 = 280 = 6 3,360
SEANES 15,000& = 12& 180
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68,688,000& * 7/100 * 1.1 5,289
—Za/sE 318,403,000& * 7/100 * 1.1 24,518
— 20 E 46,046,000% = 7/100 = 1.1 3,546
—S/WEE2H, MEEH S)
150,041,900& = 10/100 * 1.1 16,505
207 A O] 35,000 40,000 A5,000
02 & A I 35,000 40,000 A5,000
OIPZelAlAE = 35,000,000& * 14 35,000
405 RHoHE S HI 476,700 124,610 352,090
01 AL EFSFH S 476,700 124,610 352,090
OZAXHAAE D3 67,000,000& * 14 67,000
ONBASE 24 U GSHUSOMAAY 22
300,000,000& * 14 300,000
OMZEX &4 109,700,000& * 14 109,700
HEME Z XtMHIA 597,700 602,960 A5,260
AsYHASHZ AU XA 113,700 96,960 16,740
301 gt L= 106,460 89,560 16,900
04 tSLHUHAH XA 106,460 89,560 16,900
OS2y oAl XI&
3,000 = 68H  365¢ 74,460
Olsgddgl =222 ¢ 50,000& = 3004 15,000
OXsddHz=A ey XI&
100,000& = 17JHCH = 504 & 8,500
ONsgddHESE 2 500,000& = 17JHCH 8,500
307 21201 A 7,240 7,400 A 160
04 DIZFHALALSE E X 7,240 7,400 A 160
ONSLHASH SnZEAML 2 IS0t
tHal(BExE 80%) 5,000,000& = 14 5,000
OJ=ZZ2MN &g & sS=Eag 2HHe
2,800,000& = 141 = 80/100 2,240
g0 s 484,000 506,000 222,000
401 AIEHI L 2 CHYI 484,000 506,000 A 22,000
01 A& HI 484,000 506,000 A22,000
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25,000,000& * 10CH 250,000




SH oEE D
2

FH: CCTV 22l (SSEMLAE /TS - 21e9])
Sl BHOY L AHHIA (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— 394 CCTV &4 Xl 10,000,000 = 2CH 20,000
OsSd8s OS2y E CCTV A 7F&X
3,000,000 = 38CH 114,000
HE2HZH (S Z D) (JIEH/IIE) 85,780 80,948 4,832
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Oggtx==2 100,000& * 12& 1,200
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—PC =2l 100,000& * 15CH » 20/100 300
— JIEt==2lHl 50,000& = 12& 600
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202 O4dl 62,100 57,960 4,140
01 = LH YI 62,100 57,960 4,140
O2LH o HI 20,0002 = 15% * 128 * 123 43,200
O&2| ™o dl 90,000& = 159H » 14« 18,900
203 R =T | 3,000 3,000 0
04 FANSEHE=LH 3,000 3,000 0
ORN2IEYRF=AHI 250,000& = 12& 3,000
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXNMSAHR-HZH| (CHH F 2 A
100,000& * 12& 1,200
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LHEAHeHXI & 418,794 407,669 11,125
702 JIS3HES 418,794 407,669 11,125
IS8 E3 418,794 407,669 11,125
OMg2elIz2 &3 (MY 2 e I=2Y
H67x) 125,638, 124,800& = 1/3 = 1/100 418,794




